Kinematic 3 Results

Tuesday, May 26, 2009
9:30 AM

Note thatthe currentis given ratherthan charge.
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Neutral QE / Charge (unA)
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Inthe 3450s and 3460s, an effort was made to run as 9 uAinstead of 7 uA. Thisled to increase
trippinginthe wire chambers.
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Allthe Oeventruns had low charge, a few thousand or less rather than ~20k

Raw Asymmetry -0.0391 |(12257)0.23 |0.0090 | 0.0

.SummedAsymmetry.—0.0811. '0.0189 .0.0034 |
.PhysicaIAsymmetry .-0.1632 .0.23 .0.0383 .0.0242 |
'Lambda 02952 | 10.0607 |0.0383
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Gen 0.0166 |0.21 0.0034 |0.0022

RH2 | 0.0152 | 0.0019
'RHe3 | 0.0681 | 0.0017 |
'RN2 01295 |0.0287
Dilution | 0.776 | 0.072
b 109|037

Thesis | SQE Analysis | w/o SQE Analysis

neutrals | 15325 | 12257 ~14000
Protons*| ~166k | 179k
Uknown 6k

* Calculated for Thesis using 0.092 ratio for helium.

Forthe SQE analysis to have a 0.09 ratio, it would need to have ~150k protons.
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